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200 Questions

Que. 1 Direction: Study the following information carefully and answer the question given below.
There are a certain number of people who live in different countries But not more than 22. They are
sitting in a linear line, facing North.
There are 3 people between A and D. C is sitting at 5™ to the right of B. The person who lives in China is at 4th o

the right of A.B is to the immediate left of the person who lives in Denmark. D is at the 7th position from the
extreme left end. The person from Denmark is sitting at 6% to the right of the person from China. There are 9
people between the person who lives in china and C who lives in Switzerland. The person from Denmark is at

7% t0 the left of the person from Singapore.

Minimum how many persons are sitting in the arrangement?

1. 20
2. 11
3. 24
4. 26
5. 17

Correct Option - 1

Que. 2 What is the position of C with respect to D?

5% to the right
10™ to the left
Immediate left
5% to the left

10 to the right

I e

Correct Option - §

Que.3 How many persons are sitting between C and the person from Singapore?

[, T SO 'S T NS T
W N3 B

Correct Option - 4

Que. 4 What is the position of A from the Left end ?

1. gth
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2. g3d
3 4th
4. 1qth
5 1 Oth

Correct Option - 2

Que. 5 If we interchange the position of C and D then what will be position of B from new position of D?

6" to the left
8" to the right
5" to the right
5" to the left
7% to the right

M .

Correct Option - 4

Que. 6 Direction: Study the information given below carefully and answer the questions that follow.

There are two buses namely Bus 1 and Bus 2 starts from the same point A in their respective journey.
Bus 1 starting from point A travels 2 km in East direction and to reach point B. From point B, Bus 1 takes a right
turn and travel 5 km to reach point C and from point C it travels 2 km to its left to reach point D. From point D
Bus 1 travels 4 km North to reach point E and then turns to its left and travel 4 km to reach final destination point
F and stops there.

The Bus 2 starts its journey from A and travels 3 km in West direction to reach point O. From point O Bus 2 takes
a right turn and travels 7 km to reach point P and further travels 2 km to its right to reach point Q. From point Q
it travels 13 km South to reach point R. From point R Bus 2 takes a left turn travels 1 km to reach point S and
stops there.

Suppose a imaginary point X is in North West of A, from there a perpendicular is dropped on a point L which is
in line with OB and total distance between point L and B is 17 km. What is the distance between the L and point
0?

1. 9km
2. 8km
3. 7.5km
4. 85km
5. 12km

Correct Option - 5

Que. 7 Point F is in which direction with respect to point B?

1. South West
2. North East
3. South

4. North West
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5. East

Correct Option - 1

Que. 8 Which of the following points stands in a straight line?

whn A W N =
oW O >
> g O ™ O
"U..U(I/)C/)"U

Correct Option - 2

Que. 9 Directions: These questions are based on the data given below.

Seven people — A, B, C, D, E, F and G are sitting in a row but not necessarily in the same order. Some
are facing north, and some are facing south. Each of them has a different number of flowers numbers from 21 to
27 but not necessarily in the same order.

A and C are not sitting at the extreme ends and also A is sitting four places away to the left of C. A, who is facing
north is sitting adjacent to the person who has 26 flowers and that person is not sitting at the extreme ends. C
does not have an even number of flowers and F is sitting at the extreme right. The sum of the flowers of C and B
is 46. The sum of the flowers of F and C is 47 and they both are sitting adjacent to each other. The person who
has 21 flowers is sitting at the extreme left. Only one person sits between B and D and both of them facing
opposite direction to each other. G sits adjacent to C and facing opposite direction to C and has flowers which are
a multiple of 3 and 9 both. More than three persons are facing north. Person sitting at the extreme ends are facing
the same direction. E has more flowers than B but less than C and is facing south. Immediate neighbors of E face
same direction to each other.

Which person has 21 flowers?

[, TR SO 'S T NS IR
m o » 0w

Correct Option - 1

Que. 10 Who is sitting two places away to the right of D?

B

[, T SO O T NS T
m g > 0

Correct Option - 1
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Que. 11  In which position is E sitting from the extreme left?

1. ond
2. 3d
3. ¢th
4. st

5. 4t

Correct Option - 5

Que. 12 The sum of flowers of which two people is 53?

I. G&B
2. G&D
3. C&B
4. C&E
5. G&A

Correct Option - 2

Que. 13 Who sits second to the right of G?

B

AR

C
A
D
E

Correct Option - 4

Que. 14 Which of the following symbols should be placed in blank spaces (from left to right) in order to
complete the given expression that makes the expression C > R definitely True?

C,A,R E S
None of the above

LN R W N —
e
=
g
~
<

Correct Option - 2

Que. 15  Which of the following symbols should be placed in the blank spaces respectively (in the same order
from left to right) in order to complete the given expression in such a manner that “Y <C” and “B>Y”
definitely holds true?

C Z Y B
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>, >, <
<<=

> b

1

2

3. >><
4, >,=>
5

None of these

Correct Option - 3

Que. 16 In which of the following statements does the expression 'P < U' is definitely true.

M>N>0=P>R>U
M>U>0=P>R>N
M>U>0=P>R>Q
M>U >0=P>R>N
U>M>0=P>R>Q

A

Correct Option - 2

Que. 17 Direction: In the question below are given three statements followed by two conclusions numbered I

and II. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:

I. Only a few relations are doubtful

II. No artificial is real

III. Some doubtful are real

Conclusions:

I. Some doubtful being real are not artificial
I1. All doubtful can be artificial

II1. Atleast few real are relations

Only conclusion I follows
Only conclusions I and III follows
Only conclusion II and III follows

Only conclusion III follows

I .

Only conclusion I, II and III follows.

Correct Option - 1

Que. 18 Direction: In the question below are given three statements followed by two conclusions numbered I

and II. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:

I. Some people are honest
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II. Only a few people are good

II1. All good are ram

Conclusions:

I. All good being honest is a possibility
II. All honest being Ram is a possibility
I11. Atleast few Ram are people

Only conclusion I and II follows
Only conclusion II and III follows
Only conclusion I follows

Only conclusion III follows

All follows

I .

Correct Option - 5

Que. 19 Direction: In the question below are given three statements followed by two conclusions numbered I

and II. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:

I. Only a few Writers are criticized

II. Few believers are Writers

III. No Dentist is criticized

Conclusions:

I. At least some Writers are Dentist

II. All criticized being believers is a possibility

II1. At least some believers are dentists.

Only conclusion I follows
Only conclusion II follows
Only conclusion III follow

None follows

AR A

Either conclusion I or II follows

Correct Option - 2

Que. 20 A statement is followed by two assumptions 1 and 2. You have to consider the statement to be
true, even if it seems to be at variance from commonly known facts. You have to pick the
assumption that can definitely be drawn from the given statement and indicate your answer accordingly.

Statement: Prime Minister Shinzo Abe’s ruling coalition scored a landslide victory at the polls, boosted by his
campaign promises to invest more heavily in education and childcare, aimed partly at encouraging more women
to join the workforce.

Assumptions:
1. The number of women workers in Japan are lesser than men.

2. Women are reluctant to join the workforce because of education and childcare.
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1

2

Either 1 or 2
Neither 1 nor 2
Both 1 and 2

A S

Correct Option - 2

Que. 21 The question given below consists of a statement, followed by three arguments numbered I, I1
and III. You have to decide which of the arguments is/are ‘strong’ arguments and which is/are
‘weak’ arguments and accordingly choose your answer from the alternatives given below each question.

Statement: Malaysia has set up a trust fund for the public to donate money in order to help the government
repay the country's debt. Malaysia's Finance Ministry said the fund would be called Malaysia Hope Fund and the
contributions must be made in cash.

Will this help to gain financial stability?

Arguments:

I. Yes, Malaysia's national debt amounts to $250.8 billion which is 80% of its GDP.
I1. No, Malaysia's debt amounts to $250.8 billion which is 8% of its national GDP.
II1. Yes, 80% of Malaysia's GDP amounts to a debt amount of about $250.8 billion.

None is strong.

Only I and III are strong.
Only II and III are strong.
Only I is strong.

I .

All are strong.

Correct Option - 2

Que. 22 Directions: In the question below are given a statement followed by two courses of action numbered I

and II. A course of action is a step or administrative decision to be taken for improvement, follow-up or
further action regarding the problem, policy, etc. Based on the information given in the statement to be true, then
decide which of the suggested courses of action logically follow(s) for pursuing.

Statement:

Azriel Archeron is the new Operations Manager Head at Company D. He has been hired by the company a week
ago because of his stellar reputation and rapport with the workers. Azriel has been going through the various
report files of the company. After studying the reports, he concludes that the efficiency of the workers has
dropped in the last thirteen years. Previously, the workers were given tea breaks twice a day apart from the lunch
break. The Manager Head before Azriel had cut down the tea breaks of the workers. Azriel proposes two courses
of action to counter the problem.

Course of Actions:
I. Azriel gives a half-day on two of the working weekdays to the workers.

I1. Azriel reinstates the previous tea breaks that were provided to the workers.

1. Only I follows.
2. Only II follows.
3. Either I or II follows.
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4. Neither I nor II follows.
5. BothI and II follow.

Correct Option - 2

Que. 23  Four of the following five are alike in a certain way and so form a group. Which is the one that does
not belong to that group?

1. DGIK
2. ZWUS
3. KNPR
4. QTVX
5. HKMO

Correct Option - 2

Que. 24 Directions: In each question below is given one/more statements that followed by two assumptions
numbered I and II. Consider the statement and decide which of the given assumptions is implicit.

Statement: The manager informed his colleagues that due to personal reasons he had to go out of
town and will not be able to attend the meeting. He also told his employees to not cancel the meeting
and reminded them that many people came from outside our country especially for this meeting.

Assumption I: Manager did not wanted to upset the people over cancelled meeting.
Assumption II: The manager had some important task to complete instead of attending meeting.

Only assumption I is implicit.

Only assumption II is implicit.

If either assumption I or II is implicit.
If neither I nor II is implicit.

If both I and II are implicit.

ok W=

Correct Option - 5

Que. 25 Direction: Statement is given followed by two inferences I and II. You have to consider the statement
to be true even if it seems to be at variance from commonly known facts. You have to decide which of
the given inferences, if any, follow from the given statement.

Statements:
Yoga was originated in India during ancient times by the Yogis.
Practicing yoga teaches us about the body and mind discipline by uniting or connecting both body and mind.

It is like a medicine that treats various diseases gradually by regularizing the functioning of the body organs.

Which of the given inferences follows from the given statements?

1. One will never have to go to hospital if he/ she practices yoga regularly.
2. Practicing yoga can help to build a healthier lifestyle.

3. Only Indians practice yoga.
4

Yoga can cure diseases instantly.
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5. No inference is true.

Correct Option - 2

Que. 26 Which of the given inferences follows from the given statements?

Yoga is practiced all over the world.
Morning is best time to practice yoga.
Yoga regularizes the functions of body organs.

Yoga can increase flexibility of body.

ok W=

All inferences are true.

Correct Option - 3

Que. 27  Direction: Study the following information carefully and answer the questions given below.

There are seven boxes i.e. A, B, C, D, E, F and G which are of different colour and kept one above the other. The
boxes are of different weights.

Only two boxes are kept between box A and box C. Pink colour box is kept immediately below C. Box A is of
Blue colour. There is only one box kept between the Pink colour box and the Black colour box. The blue colour
box is kept above the Black colour box. Only two boxes are lighter than the Blue colour box. Only three boxes
are kept between Red colour and Black colour box. The white colour box is heavier than Red colour box but just
lighter than the Black colour box. The pink colour box is just lighter than Red colour box. The black colour box
is not the heaviest. Only two boxes are kept between box F and Red colour box. Box F is lighter than box E
which is kept immediately below box F. Black colour box is just lighter than box D. Only one box kept between
box E and box B. Box G is kept immediately below the green colour box. One of the boxes is of Yellow colour.
The white box is kept above the pink box.

How many boxes are kept below the box which is just lighter than the box D?

1. Five
2. One
3. Two
4. Three
5. None

Correct Option - §

Que. 28 Which of the following box is of Green color?

1. BoxD
2. BoxB
3. BoxE
4. BoxC
5. BoxA

Correct Option - 1
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Que. 29 Which of the following box is the lightest?

1. BoxE
2. BoxD
3. BoxF
4. BoxB
5. BoxC

Correct Option - 4

Que. 30 How many boxes are lighter than the box which is kept immediately below A?

1. One
2.  Four
3. Three
4. Two
5. Six

Correct Option - §

Que. 31 Box C is of which color box?

1. Green
2. Red
3.  White
4. Black
5. Pink

Correct Option - 3

Que. 32 Direction: Study the following information carefully and answer the questions given below. A number
arrangement machine, when given a particular input, rearranges it following a particular rule. The
following is the illustration of the input and the steps of arrangement.

Input: bike 98 nike 92 zoom 88 tall 61 farm 70
Step I: bk nike 92 zoom 88 tall 61 farm 70 96
Step II: fr bk nike zoom 88 tall 61 70 96 90
Step III: nk fr bk zoom tall 61 70 96 90 86
Step IV: tl nk fr bk zoom 61 96 90 86 68

Step V: zo tl nk fr bk 96 90 86 68 59

And Step V is the last step of the rearrangement as the desired arrangement is obtained. As per rules followed in
the above steps, find out in each of the questions the appropriate step for the given input.

Input: hike 55 bowl 80 damp 77 lamp 44 sent 99
What is the total sum of all the numbers in step II ?

. 300
2. 351
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3. 231
. 330
5. 423

Correct Option - 2

Que. 33  Which element is fourth to the left of the one that is second from extreme right in Step 1?

1. damp
2. 77
3. 55
4. lamp
5. bowl

Correct Option - 1

Que. 34  Which of the following represents the difference of the last and the second last element in the IV step?

1. 21
2. 27
3. 25
4. 22
5. 23

Correct Option - 4

Que. 35 Which of the following is step III of the given input?

hk dm bw 55 lamp 44 sent 97 78 75
Im hk dm bw 55 44 sent 97 78 75 53
dm bw 55 hike lamp 44 sent 9778 75
sn Im hk dm 97 78 75 53 43

hk dm bw 55 lamp 44 sent 97 78 76

A S

Correct Option - 1

Que. 36 Directions: Study the following information and answer the question given below:

Six persons are born in six different years. Their ages are calculated with respect to 2018. They like six
different fruits Cherry, Orange, Apple, Mango, Banana and Grapes, but not necessarily in the same order. None
of them is More than 90 years old.

Note: If the person age is considered as last two digits of the person Birth year, then it will be at any sequence.
For example, A’s age is considered as last two digit of B’s birth year-1947, and then A’s age is either 47 or 74.

The one who is third youngest among them likes Apple. Manika was elder than Charu. The age difference
between Tarun and the one who likes cherry is 21 years. Visakha age was sum of all the digits of birth year of the
one who like cherry. The one who likes Mango is 5 years elder than Visakha. Only one person born was before
Arko. Arko age was equal to the last two digits of the birth year of the one who likes Mango. The difference
between Ages of Arko and Viraj was 24 years. The one who likes Banana born immediately before the one who
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likes Grapes. Tarun was born in 1983.
Who among the following persons likes Orange?

None of those given as options
Arko
The one who likes Banana

The one who was 56 years old

I .

The one who was born on 2000

Correct Option - §

Que. 37 What is the age of the one who likes Apple?

1. 31 years
2. 46 years
3. 59 years
4. 35 years
5. None of those given as options

Correct Option - 4

Que. 38 What will be the sum of ages of the youngest and the eldest person among them?

1. 99 years

2. 87 years

3. 101 years

4. 97 years

5. None of those given as options

Correct Option - 3

Que. 39 According to the given information, which of the following statements is/are true?

I) The youngest one likes Orange.
IT) Charu is the fifth eldest among them.
IIT) One who was born on 1989 likes Grapes.

1. Onlyl

2. BothIandIII

3. Onlylll

4. BothlandlIl

5. All of the above

Correct Option - 4

Que. 40 Who among the following likes Banana?

1. Virgj
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2. Tarun
3. Charu
4. Visakha
5. Manika

Correct Option - 1

Que. 41 A jar contains 84 litre of pure juice. 18 litre of juice is taken out from the jar and replaced it with pure
water. Again, 28 litre of the mixture is taken out and is replaced by 20 litre of water. Find the ratio of
juice and water in the final mixture.

1 8:11
2. 4:3

3. 11:8
4, 11:3
5. 3:11

Correct Option - 3

Que. 42 A person retires from the job and gets some amount as retirement fund. He saves 35% of the fund and

the remaining amount is distributed among his wife, a son and a daughter in the ratio of 6 : 5 : 2. If the
difference between the share of son and the amount which he saves for himself is Rs. 27200. Find the total
amount which he received as a retirement fund.

1. Rs. 272000
2. Rs. 228000
3. Rs. 288000
4. Rs. 262000
5. Rs. 275000

Correct Option - 1

Que. 43 A can do a piece of work in 40 days and is 100% more efficient than B. B and C complete 10% of the
work in 1 day. In how many days C alone can complete the work?

1. 80/7
2. 977
3. 24/7
4. 33/7
5. 4777

Correct Option - 1

Que. 44 In the following question, two statements are numbered as A and B. On solving these statements we get
quantities A and B respectively. Solve for the both quantities and choose the correct option.

Quantity A: At what rate of interest will the simple interest on a sum of money be 30% of it after 4 years?
Quantity B: At what rate of simple interest will a sum of money amount to 1.5 times of it after 8 years?
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1. Quantity A > Quantity B
2. Quantity A < Quantity B
3. Quantity A > Quantity B
4. Quantity A < Quantity B
5. Quantity A = Quantity B

Correct Option - 1

Que. 45 In the following question, two statements are numbered as A and B. On solving these statements we get
quantities A and B respectively. Solve for the both quantities and choose the correct option.

Quantity A: If a train running at a speed of 60 km/hr crosses a man, running at a speed of 6 km/hr in the same
direction, in 12 sec, in how much time will the train cross a standing man?

Quantity B: A 200 m long train crosses a 40 m long bridge in 8 sec. In how much time will it cross a 130 m long
bridge?

1. Quantity A > Quantity B
2. Quantity A < Quantity B
3. Quantity A > Quantity B
4. Quantity A < Quantity B
5. Quantity A = Quantity B

Correct Option - 2

Que. 46 Given below are two quantities named A and B. Based on the given information, you have to determine
the relation between the two quantities. You should use the given data and your knowledge of
Mathematics to choose among the possible answers.

The age of Rishi is twice than that of Binny. The age of Binny and C is in the ratio of 3 : 2. Rishi is 12 years
older than C.

Quantity A: Age of Binny, five years later
Quantity B: Age of Rishi, four years ago

1. Quantity A > Quantity B
2. Quantity A < Quantity B
3. Quantity A < Quantity B
4. Quantity A > Quantity B
5. Quantity A = Quantity B or no relation can be established

Correct Option - §

Que. 47 Given below are two quantities named A and B. Based on the given information, you have to determine
the relation between the two quantities. You should use the given data and your knowledge of
Mathematics to choose among the possible answers.

Quantity A: A group of 40 persons having boys and girls is further divided into two different groups, group A
and group B. The number of boys in both groups is equal. The number of girls in group A is 8 and the total
number of people in group B is 2 more than that of group A. Find the number of girls in group B.

Quantity B: 16
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1. Quantity A > Quantity B
2. Quantity A < Quantity B
3. Quantity A < Quantity B
4. Quantity A > Quantity B
5. Quantity A = Quantity B or no relation can be established

Correct Option - 2

Que. 48 Given below are two quantities named A and B. Based on the given information, you have to determine
the relation between the two quantities. You should use the given data and your knowledge of
Mathematics to choose among the possible answers.

Find the value of x.
Quantity A: x* Tax x4 -a=x2tax x2-a

Quantity B: 42 —4x+1=0

1.  Quantity A > Quantity B
2. Quantity A < Quantity B
3. Quantity A < Quantity B
4. Quantity A > Quantity B
5. Quantity A = Quantity B or no relation can be established

Correct Option - §

Que. 49 The difference between the compound interest and the simple interest on a certain sum of money for 2
years at 20% per annum is Rs. 200. Find the interest, if the same money is invested for 3 years at 12%
per annum at simple interest.

1. Rs. 1250
2. Rs. 1000
3. Rs. 1800
4. Rs. 2000
5. Rs. 1200

Correct Option - 3

Que. 50 Two partners A and B invested Rs. 2800 and Rs .2100 in a business. C joins them after x months with
Rs. 3500. Before 2 months of completion, B leaves the business. If at the end of the year, C receives
Rs. 350 out of the profit of Rs. 1050, then find the value of x.

1. 7
2. 32
3. 4
4. 42
5. 6
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Correct Option - 4

Que. 51 Directions: The following table shows the quantity of waste (Dry and Wet) picked by a truck in 5
different days. The capacity of the truck on Monday and on Wednesday is 180 kg, on Tuesday, it is 200
kg and the rest of two days is 150 kg.

. Ratio of  ||Wet waste
Quantity of
Days wet to dry |- Dry
wet waste
waste Waste
Monday - 7:4 27 kg
Tuesday 110 kg - 22 kg
Wednesday 99 kg - -
Thursday 84 kg Ty -
Friday - 12:7 40 kg

If on Wednesday, the truck picks only 80% of the waste of his capacity, then find the difference between the

quantity of Wet waste and Dry waste on the same day.

1. 54kg
2. 45kg
3. 30kg
4. 99kg
5. 144 kg

Correct Option - 1

Que. 52 What will be the average weight of the Wet waste picked by the truck in all the five days?

1. 84.5kg
2. 96kg

3. 90.4kg
4. 945kg
5. 452kg

Correct Option - 3

Que. 53 If the dry waste picked by the truck on Thursday is 40 kg less than that of dry waste picked on
Tuesday, then find the value of y.

wm R W N =
—_ 0 N b~ O

Correct Option - 2
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Que. 54 The dry waste, picked by the truck on Monday, Tuesday and Friday is how much percent of the wet
waste, picked by the truck on the last two days?

1. 96%
2. 80%
3. 100%
4. 150%
5. 200%

Correct Option - 3

Que. 55 If the truck picks the waste on the first and the last day with its full capacity, but the quantity of wet
waste, picked by it does not change, then find the ratio of wet waste to dry waste, picked by the truck
on the first and the last day, respectively.

L A W N =
AN N N Wb
N N L N W

Correct Option - 4

Que. 56 A boat can row 24 km upstream and 36 km downstream in 3 hours and 48 km upstream and 72 km
downstream in 6 hours. Find the speed of the boat in still water.

1. 4km/hr
2. 6 km/hr
3. Skm/hr
4. 3 km/hr
5. Cannot be determined

Correct Option - §

Que. 57 Train A crosses a 250 m long bridge in 25 seconds. Another train B, whose speed is 1/5th of train A,
can cross train A in 9 seconds while travelling in the opposite direction. If the length of train A is 125
m, find the length of train B.

I. 37m
2. 24m
3. 39m
4. 33m
5. 27m

Correct Option - 1

Que. 58 Direction: A train is travelling from station A to E.
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- At station A, 80 persons board in the ratio of male to female of 9 : 7.

- At station B, 15 men got down and 5 women boarded the train.

- At station C, half of the women got down and the same number of women boarded the train.
- At station D, x number of male got down and now the ratio of male to female is 5 : 8.

If 50% of male who were travelling from B to C do not have a valid ticket and 60% of the female travelling
from B to C do not have a valid ticket, find the number of passengers who are travelling from B to C with
invalid ticket.

1. 35
2. 36
3. 29
4. 39
5. 33

Correct Option - 4

Que. 59 The number of females travelling from station B to C is approximately how much percent more
than the number of males travelling from station D to E?

1. 18%
2. 24%
3. 32%
4. 14%
5.  None of these

Correct Option - §

Que. 60 Find the difference between the passengers travelling from starting point to destination point.

1. 35
2. 15
3. 40
4. 30
5. 25

Correct Option - 2

Que. 61 Which of the following statements is true?

A) The number of females travelling from station A to B is equal to the number of males travelling
from station D to E.
B) The total number of passengers travelling from station C to D is 45% of the number of males who
boarded from the starting point.
C) The difference between the number of male and female travelling from station D to E is half of the
difference between the number of male and female travelling from station C to D.

1. OnlyAandB
2. OnlyAandC
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3,
4,

5.

OnlyBand C
All are true

None of them is true

Correct Option - §

Que. 62 Find the ratio of total number of passengers travelling from station D to E and B to C.

1
2
3.
4
5

8:7
5:6
12:11
13:14
11:12

Correct Option - 4

Que. 63 The perimeter of a semicircle is 36 cm. An isosceles triangle is inscribed in the semicircle. A square is

further inscribed in the isosceles triangle. The side of the square is half of the equal side of the

isosceles triangle. Find the perimeter of the square.

M e

11 cm
14 cm
16 cm
18 cm
20 cm

Correct Option - 5

Que. 64 The capacity of a printer is 5 lines per seconds and can print the article in 5 minutes. In how much time

AR A

a new laser printer of capacity 7 lines per seconds can print the same article?

198.18 seconds
202.18 seconds
210.18 seconds
214.28 seconds
230.18 seconds

Correct Option - 4

Que. 65 Direction: The given line graph shows the number of passengers travelled by 2 cab drivers and the

table shows the percentage of females who travelled in the cabs in different months.
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h Driver A === Driver B

450
400 /
350 "
300 / e
250 / & /
200 / * /
150 " V
100
50
0
May June July August September
Month Driver A Driver B
Percentage of Females Percentage of Females
May 30% 50%
June 50% 70%
July 20% 40%
August 60% 30%
September 40% 50%

Find the ratio of the average of the female in the month of June and July by Driver A to the average of the males
in the same month by Driver B.

ok =

55:42
42 :55
11:17
17:11
29:27

Correct Option - 3

Que. 66 Driver A rejects 20% of the total passengers who booked for the cab in the month of May and Driver B

rejects 10% of the passengers who booked for the cab for the same month. Find how much percent

Driver A picks the passengers less than that of Driver B in the same month.

AR

25%
50%
40%
20%
33.33%
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Correct Option - §

Que. 67 Find the ratio of number of female passengers who booked for Driver A in the month of July and
August to the number of male passengers who booked for Driver B in the month of May and
September.

wm R W N =
N D W = N
“bD AN 9 bW

Correct Option - 4

Que. 68 The total number of male passengers who booked the trip in the month of June is approximately what
p pp y
percent of the total number of females who booked for the trip in the month of September?

1. 65%
2. T12%
3. 82%
4. 64%
5. 50%

Correct Option - 2

Que. 69 Find the difference between the average number of males booked for the cab from Driver A to the
average number of males booked for the cab from Driver B.

1. 25
2. 28
3. 10
4. 20
5. 32

Correct Option - 3

Que. 70 A sum of money amounts to Rs. 2480 in two years and Rs. 3200 in five years. Find the rate of simple
interest per annum.

1. 16%
2. 12%
3. &%

4. 10%
5. 18%

Correct Option - 2
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Que. 71 In an election, two candidates A and B participated. 40% of the total registered voters vote in the
election and A wins by 440 votes. Had B got 27.5% more votes, then there would have been a tie. Find
the total number of registered voters.

1. 8100
2. 3640
3. 2040
4. 6100
5. 9100

Correct Option - 5

Que. 72 Direction: The pie chart shows the number of patients (Total number of patients is 400) attended by 5
different doctors while the table shows the fees of doctors and the concession given by doctors. Read
the data carefully and answer the following question.

Doctors Fees Concession
A Rs. 2500 4%
B Rs. 1000 5%
C Rs. 1200 10%
D Rs. 800 10%
E Rs. 500 15%

Note: The following doctors were categorized in 3 different posts. i.e., Master physio, Senior physio and Junior
physio.
Doctor A is Master physio, Doctor B and C is Senior physio, Doctor D and E is Junior physio.

In a day, Doctor A attends 50% of the patients, Doctor B attends 40% of the patients and rest of the doctors
attends 30% of the patients. Then find out how much money is collected by the hospital in that particular day?

1. Rs. 246760
2. Rs. 242840
3. Rs. 223820
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4. Rs. 213060
5. Rs. 268040

Correct Option - 3
Que. 73 In a case, senior physio recommend 10% of his patients to the master physio and Junior Physio

recommend 20% of his patients to the senior physio. Then Find the ratio between the total number of
patients attended by senior Physio to the total number of patients attended by Master physio.

1. 21:17
2. 18:13
3. 17:21
4. 23:19
5. 19:23

Correct Option - 1

Que. 74 If the percentage of patients operated by senior Physio and junior physio are interchanged and attended
equally, then the total earning by the junior physio is approximately what percent less of the total
earnings of senior Physio?

1. 45%
2. 25%
3. 50%
4. 3%
5. 60%

Correct Option - 2

Que. 75 The number of patients increased by 20% and the percentage of these people attended by Master

physio, Senior physios and Junior physios is 50%, 30% and 20%. Calculate the earning of the hospital
from these patients. (Given that the number of patients attended by both the senior physio is equal and number of
patients attended by both the junior physio is equal)

1. 128760
2. 134680
3. 129520
4. 124780
5. 128930

Correct Option - 3

Que. 76 If Doctor B promoted to the rank of Master physio and he has to attend the same percentage of patients
which he earlier attends. Then what will be the difference in his earnings?

1. Rs. 154000
2. Rs. 163000
3. Rs. 124000
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4.  Rs. 145000
5. Rs. 162000

Correct Option - 4

Que. 77 A person sold his article at the cost price for Rs. 150000 after giving two successive discounts of 20%
and 25%. Had sold it at marked price find the profit.

1. Rs. 125000
2. Rs. 250000
3. Rs. 100000
4. Rs. 150000
5. Rs. 200000

Correct Option - 3

Que. 78 Salary of 3 employees A, B and C in a company is in the ratio of 2 : 1 : 3. If C gets 40000 Rs. more
than A, then find the salary of employee B.

1. 40000
2. 30000
3. 55000
4. 35000
5. 45000

Correct Option - 1

Que. 79 The respective ratio between the present ages of Ram, Rohan and Raj is 3 : 4 : 5. If the average of their
present ages is 28 years then what would be the sum of the ages of Ram and Raj together after 5 years?

1. 45
2. 55
3. 52
4. 66
5. None of these

Correct Option - 4

Que. 80 The average age of 20 students of a class is 9 years. If 10 new students are admitted, the average age of
the class is increased by 6 months. Find the average age of newly admitted students?

10 years 6 months
10 years 3 months
9 years 6 months

9 years 9 months

nok W=

None of these
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Correct Option - 1

Que. 81 Who among the following has been given the portfolio of Minister of Human Resource Development?

1. Ramesh Pokhriyal Nishank
2.  Qiriraj Singh

3. Narendra Modi

4.  Arvind Ganpat Sawant

5. Prahallad Joshi

Correct Option - 1

Que. 82 In which state was the 1st Mega Aqua Food Park commissioned in February 2019?

1. Odisha

2. Andhra Pradesh
3. Karnataka

4. Tamil Nadu

5. Kerala

Correct Option - 2

Que. 83 The Central government has made mandatory for all Electric Vehicles (EVs) to use the
number plates.

1. Pink

2. Green
3. Blue

4. Black
5. Orange

Correct Option - 2

Que. 84 Article 19 of the Indian Constitution provides

1. 6 freedoms
2. 7 freedoms
3. 8 freedoms
4. 9 freedoms
5. 5 freedoms

Correct Option - 1

Que. 85 Which country is going to host the G20 summit in 2023?

1. Argentina

@ Teachingninja.in



2. India

3. Ttaly

4. Germany

5. Saudi Arabia

Correct Option - 2

Que. 86 Armed forces of India and kicked off a joint military exercise, ‘Bold Kurukshetra—2019’, in
Jhansi’s Babina Cantonment in April 2019.

UAE
Malaysia
Singapore
Myanmar
Thailand

I .

Correct Option - 3

Que. 87 With which firms Apple has partnered with to launch a new credit card called Apple Card?

1. Goldman Sachs and Mastercard
2. Goldman Sachs and RBL

3. Mastercard and RBL

4. Yes Bank and Mastercard

5.

Bank of America and American Express

Correct Option - 1

Que. 88 Who among the following were elected to the Fellow of the Royal Society (FRS) in April 2019?

1. Gagandeep Kang
2. Manjul Bhargava
3. Akshay Venkatesh
4. Both 1 and 2

5. All are correct

Correct Option - §

Que. 89 To which sport is Amit Panghal related to?

1. Cricket
2.  Boxing
3. Football
4. Hockey
5. Chess
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Correct Option - 2

Que. 90 Who among the following appoints Comptroller and Auditor General (CAG) of India?

Finance minister

Prime Minister

President

Union Public Service Commission
Chief Justice of India

I .

Correct Option - 3

Que. 91 The head office of OECD is located at

1. Mumbai
2. Geneva

3. Paris

4. New York
5. Brussels

Correct Option - 3

Que. 92 Who among the followings was the first deputy prime minister of India?

Lal Krishna Advani
Vallabhbhai Patel
Yashwantrao Chavan

Morarji Desai

AR S

None of the above

Correct Option - 2

Que. 93 Which among the following institution has signed a memorandum of understanding (MoU)
with Apollo Hospitals Enterprises for installing public electric vehicle charging stations in its hospitals
across the country?

Energy Electrical source Limited
Energy Efficiency Source Limited
Energy Efficient Services Limited
Energy Electronic Services Limited

ok W=

Energy Efficiency Services Limited

Correct Option - 5

Que. 94 Which of the following became the first Indian shipyard to build and deliver 100 warships?

1. Garden Reach Ship Builders and Engineers Ltd.
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Cochin Shipyard Ltd.

Western India Shipyard Ltd.
Hooghly Dock & Port Engineers Ltd.
Goa Shipyard Ltd.

A

Correct Option - 1

Que. 95 Who has been appointed as the chairperson of National Green Tribunal?

Justice Adarsh Kumar Goel
Justice Madan Lokur

Justice Ajay Manikrao Khanwilkar
Justice Arun Kumar Mishra
Justice Uday Lalit

AR

Correct Option - 1

Que. 96 "Coming Round the Mountain: In the Year of Independence" book written by

1. Sashi Thaoor
2. Arundhati roy
3. Ruskin Bond
4. Chetan Bhagat
5.  Nadia Murad

Correct Option - 3

Que. 97 World Homeopathy Day convention 2019 held in city.

Kolkata
Deradun
Mumbai
New Delhi

Chennai

A

Correct Option - 4

Que. 98 Total number of Padma Bhushan awardee in 2019 is

1. 10
2. 18
3. 14
4. 20
5. 4

Correct Option - 3
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Que. 99 Google has complied with an Indian court order to block access to the popular app over
government concerns with illicit content.

1.  Musical.ly
2. Snapchat
3. TikTok

4. SHAREit
5. Twitter

Correct Option - 3

Que. 100  Which of the followings state ranked the second-highest number count of tigers in India?

1. Madhya Pradesh
2. West Bengal

3. Karnataka

4. Assam

5. Uttarakhand

Correct Option - 3

Que. 101  Which country is not member of G7?

I. Russia

2. Germany
3. ltaly

4. Britain

5. USA

Correct Option - 1

Que. 102 Which of the following is not a BRICS nation?

1. South Africa
2. China

3. Brazil

4. SriLanka

5. India

Correct Option - 4

Que. 103 What is the joint venture company to be set up with the participation of National Aluminium
Company Ltd.(NALCO), Hindustan Copper Ltd.(HCL) and Mineral Exploration Company Ltd.
(MECL)?

1. KHANUJ
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A

KABIL
NAMECL
NAMHO

None of the above

Correct Option - 2

Que. 104 With whom did Google partner in April 2019 to allow Google Pay users to buy and sell gold through

I .

the app?

JM Bullion

MMTC - PAMP

Money Metals Exchange
Bullion Vault

SD Bullion

Correct Option - 2

Que. 105 What is the capital of Andhra Pradesh?

A

Guntur
Visakhapatnam
Amravati
Nagarjunakonda
Bellary

Correct Option - 3

Que. 106 Who has been appointed as the Principal Secretary to PM Narendra Modi with cabinet minister rank,

AR

in June 2019?

P K Mishra

Ajit Seth
Nripendra Misra
Amitabh Kant
Shaktikanta Das

Correct Option - 3

Que. 107 Who was appointed as the first woman vice-chancellor of Jamia Millia Islamia in April 2019?

ok W=

Deepa Kumar
Romila Thapar
Bishnupriya Dutt
Najma Akhtar
Sangeeta N. Bhatia
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Correct Option - 4

Que. 108 Who is selected as the new President of the World Bank in April 2019?

1. Steven Winberg
2. David Malpass
3.  Wilbur Ross

4. Jeffrey Gerrish
5. Ted McKinney

Correct Option - 2

Que. 109 Which of the following has been ranked as the 'Best Educational Institution' in the country in the
latest edition of National Institutional Rankings Framework (NIRF) 2019?

1. IIT Bombay

2. IT Delhi

3. IIT Madras

4. IISc Bangalore
5. UT Kanpur

Correct Option - 3

Que. 110 Where did Sunil Lanba, the previous Chief of Naval Staff inaugurate Indian Navy’s first full-fledged
Service Selection Board (SSB) in May 2019?

1. Kolkata

2. Chennai
3.  Kochi

4. Hyderabad
5. Jamnagar

Correct Option - 1

Que. 111 At which of the following places Puthandu festival is celebrated?

1. Karnataka

2. Kerala

3. Andhra Pradesh
4. Tamil Nadu

5. Assam

Correct Option - 4

Que. 112 One third of Rajya Sabha members retire after how many years?

1. Three years
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A

Two years
Four years
Six years

Five Years

Correct Option - 2

Que. 113 The Centre has notified the Bharat Stage (BS)-VI emission standards for two-wheelers and four-

I .

wheelers from throughout the country.

2026
2033
2025
2020
2019

Correct Option - 4

Que. 114 At present, how many members are there in Competition Commission of India?

A

A= 9 N W

Correct Option - 2

Que. 115 In which of the following constituency the Lok Sabha election 2019 had been cancelled?

AR A

Chennai South
Vellore
Chennai North
Central chennai

Sriperumbudur

Correct Option - 2

Que. 116 Which Indian IT firm has recently signed with India Post to transform country's mail delivery system?

AR

HCL Technologies

Wipro

Tech Mahindra

Tata Consultancy Services

Infosys
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Correct Option - 4

Que. 117 Who has been elected as the new president of International Chamber of Commerce (ICC) - India?

1. Anirban Sanyal

2. Vikramjit Singh Sahney
3. Kushagara Rawat

4.  Shiv Das

5. None of these

Correct Option - 2

Que. 118 What is the maximum donation amount a political party can receive?

1. 2000
2. 5000
3. 10000
4. 3000
5. 4000

Correct Option - 1

Que. 119 A sign used on products that have a specific geographical origin and possesses qualities or a
reputation that are due to that origin is known as

1. QRTag

2. Gl Tag

3. IR Tag

4. OPTag

5. None of the above

Correct Option - 2

Que. 120 The Lokpal has the jurisdiction to inquire into allegations of corruption against

Prime Minister

Member of Parliament

Minister in the Union government

Officials of the Union government under Groups A
All of the above

I .

Correct Option - 5§

Que. 121 In the following question, 2 columns are given containing three phrases/ sentence each. In the
first column sentences A, B, C and in the second column D, E, F are given. A sentence from the
first column may or may not connect with another sentence/ phrase from the second column to make a
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grammatically and contextually correct sentence. Each question has five options, four of which display the
sequences of the sentences. If none of the above is the answer, then mark option (e) as the answer.

Column 1 Column 2

A. There is no country in the world rIa)ti(to maintain the nitrogen calcium
B. The Prime Minister said on E. that has not suffered from
Monday terrorism

C. As the results were out F. culture is deprived

1. A-E

2. A-D

3. B-D

4. C-F

5. None of the above

Correct Option - 1

Que. 122 In the following question, two columns are given, containing three phrases each. A phrase from

the first column may or may not connect with a phrase from the second column to make a
grammatically and contextually correct sentence. There are five options, four of which display the
sequence(s) in which the phrases can be joined to form a correct sentence. If none of the phrases make a
correct sentence, mark ‘None of these’ as your answer.

Column (1) Column (2)

(D) information and
(A) It should not the blooming of

hamper the free flow

of diverse and contrarian
ideas.
(B) A good copy editor (E) full glow without

drawing any attention
to the act of editing.

(C) A news (F) a similar task for
ombudsman performs | journalistic ethics.

helps the text gain its

1. C-FandB-D

2. A-F

3. C-DandB-F

4. B-E

5. None of these

Correct Option - 4

Que. 123 Directions: In the following question, two columns are given, containing three phrases each. A

phrase from the first column may or may not connect with a phrase from the second column to
make a grammatically and contextually correct sentence. There are five options, four of which display the
sequence(s) in which the phrases can be joined to form a correct sentence. If none of the phrases make a
correct sentence, mark ‘None of these’ as your answer.

[Column (1) [Column (2) |
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(A) Public editors and ombudsmen have

(D) themselves and operating as collectors of critical
opinion.

can’t see

(B) They identify blind spots that news outlets

(E) given unbridled access to the process of news-
gathering.

(C) A news ombudsman is

(F) historically stood as critical advocates for consumers
of news.

1. B-E

2. C-Fand B-D
3. A-F

4. C-Dand B-F
5. None of these

Correct Option - 3

Que. 124  In the following question, two columns are given, containing three phrases each. A phrase from

the first column may or may not connect with a phrase from the second column to make a
grammatically and contextually correct sentence. There are five options, four of which display the
sequence(s) in which the phrases can be joined to form a correct sentence. If none of the phrases make a
correct sentence, mark ‘None of these’ as your answer.

IColumn 1)

|Column 2)

markets are now
looking to

(A) With election
outcome settled, (D) cheering policy

continuity is very low.

(B) Investor sentiment
turned positive as the

(E) see how the
government tackles
slowing economic
growth.

(F) rupee gained one
percent and stocks rose
to record highs.

(C) The likelihood of
the rupee further

1. A-D

2. C-E and B-D

3. B-F

4. A-Eand B-D

5. None of these

Correct Option - 3

Que. 125 In the following question, two columns are given containing three phrases each, In the first
column, the phrases are A, B, and C, and in the second column, the phrases are D, E, and F. A
phrase from the first column may or may not connect with a phrase from the second column to make a
grammatically and contextually correct sentence. There are five options, four of which display the
sequence(s) in which the phrases can be joined to form a grammatically and contextually correct sentence.
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If none of the options given forms a correct sentence after combination, select 'None of these' as your
answer.

Column (A) Column (B)
Eﬁ‘) She had made up her mind (D) complete the project all by herself.

(B) The Himalayan rivers helps |(E) the adults but a super fun activity for the children too.

(C) Rafting is a daring sport for (F) in the formation of the forest belt and irrigation process in these

regions.
1. B-E
2. A-Fand C-D
3. C-F
4. A-Dand C-E
5.  None of these

Correct Option - 4

Que. 126 Choose a synonym/ antonym pair for the word given below.

Salient
1. prominent/significant
2. dissident/heretic
3. notable/unimportant
4. blatant/glaring
5.

inconspicuous/unnoticeable

Correct Option - 3

Que. 127 Choose a synonym/ antonym pair for the word given below.
Inchoate

embryonic/rudimentary
nascent/grown
developed/mature

baggy/vague

I .

muddled/rumbling

Correct Option - 2

Que. 128 A word and three sentences which use the word are given below. Determine in which of the
following sentences is the word used correctly with respect to grammar and context.

State

1. The Prime Minister has stated in his speech that our country will be a five trillion economy in the coming
years.

2. I'm too nervous to stop in this horrid state where it never ceases raining.

3. it is now illegal in every state with Louisiana being the last to outlaw it in 2008.
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1. Bothl &2

2. Both2&3

3. Bothl&3

4.  All of the above
5.

No of the above

Correct Option - 4

Que. 129 A word and three sentences which use the word are given below. Determine in which of the
following sentences is the word used correctly with respect to grammar and context.

Present
1. I liked the present that he gave me on my birthday.
2. He presented me the money which I lent him.

3. I was present when he slapped the beggar for demanding a ten-rupee note.

1. Bothl &2

2. Both2&3

3. Bothl1&3

4. All of the above
5. None of the above

Correct Option - 3

Que. 130 A word and three sentences which use the word are given below. Determine in which of the
following sentences is the word used correctly with respect to grammar and context.

Structure
1. It is true that the Japanese are shorter in structure than either the Chinese or the Koreans.
2. The structure of proteins enables scientists to understand the function they perform.

3. The Church is a larger structure of similar design and construction.

1. Bothl&?2

2. Both2&3

3. Bothl&3

4.  All of the above

5. None of the above.

Correct Option - 2

Que. 131 Three words are given, which can be fill the blank in the below sentence suitably. Select the
word/s which can be a correct fit in the blank.

The International Monetary Fund has some words of advice for global leaders on how to the faltering
global economy.

a) resuscitate
b) destroy

@ Teachingninja.in



c) damage

I. b

2. bandc

3. onlya

4. bothaandc

5. none of the above

Correct Option - 3

Que. 132 Three words are given, which can be fill the blank in the below sentence suitably. Select the
word/s which can be a correct fit in the blank.

Negative interest rates have often been used by various central banks in the past to their large
financial institutions from sitting on cash-equivalents.

a) persuade
b) dissuade
c) deter

only a
both a and ¢
both b and ¢
only b

A S

none of the above

Correct Option - 3

Que. 133 Three words are given, which can be fill the blank in the below sentence suitably. Select the
word/s which can be a correct fit in the blank.

Few of us think about interest rates and on investment except when we take out a loan or invest our
savings.

a) debt
b) payments
c) yields

1. a

2. b

3. ¢

4. bothaandb
5

none of the above
Correct Option - 3

Que. 134 Three words are given, which can be fill the blank in the below sentence suitably. Select the
word/s which can be a correct fit in the blank.

People from various NGOs demanded a track court for serious crimes like rape so that the victim
can get justice as soon as possible.

@ Teachingninja.in



a) enormous

b) critical

c) fast
I. onlya
2. onlyc
3. bothaandc
4. aandb
5. none of the above

Correct Option - 2

Que. 135 Three words are given, which can be fill the blank in the below sentence suitably. Select the
word/s which can be a correct fit in the blank.

The manager is increasingly losing his popularity among the employees because of his stubborn and
style of working.

a) dogmatic
b) prejudiced

c) submissive

I. onlya

2. aandc

3. aandb

4. onlyc

5. none of the above

Correct Option - 3

Que. 136 In the question given below, some part of the sentence may have errors. Find out which part of
the sentence has an error and select the appropriate option. If the sentence is free from error,
select 'No Error'.

As China and India are civilisational states, neighbours (a) / and members of the future global triumvirate, the
Narendra Modi-Xi Jinping (b) / summit in Mamallapuram raise the question — (¢) do we understand China, as
well as we, claim to understand the U.S.? (d) / No error ()

A
0o a o o

Correct Option - 3

Que. 137 In the question given below, some part of the sentence may have errors. Find out which part of
the sentence has an error and select the appropriate option. If the sentence is free from error,
select 'No Error'.
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In late September, the RBI had ordered the multi-State urban cooperative bank (a) / to stop all business activities
for six months (b) / and capped withdrawals at % 1,000, a limit that were (c) / subsequently raised to 210,000 and
further enhanced to 325,000 on October 3. (d) / No error (e)

A
o a o o

Correct Option - 3

Que. 138 In the question given below, some part of the sentence may have errors. Find out which part of
the sentence has an error and select the appropriate option. If the sentence is free from error,
select 'No Error'.

I was trying to find a decent coffee shop (a) / into the market when (b) / I came across an old friend (¢) who used
to be my roommate in my college days. (d) / No error ()

A
o o o o o

Correct Option - 2

Que. 139 In the question given below, some part of the sentence may have errors. Find out which part of
the sentence has an error and select the appropriate option. If the sentence is free from error,
select 'No Error'.

Vice President had a official visit to Maldives (a) / but the visit had to be cancelled (b) / because of some
unknown reasons and (c) / the same has been postponed until next week. (d) / No error (e)

A
o a6 o

Correct Option - 1

Que. 140 In the question given below, some part of the sentence may have errors. Find out which part of
the sentence has an error and select the appropriate option. If the sentence is free from error,
select 'No Error'.

Alex had worked in many company but he did not like (a) / it in any company because he was not (b) / following
his passion, so, finally (c) / he quit his job and followed his passion. (d) / No error (e)

1. a
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A
o a o o

Correct Option - 1

Que. 141 In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Financial institutions may have strong cyber defences, but they also (1) upon third parties — often
entrusted with highly confidential data related to procurement and transactions, but who may not (2)
the same levels of security and sophistication of the financial institutions they are serving.

Cyber criminals gravitate to the (3) spots in institutions’ defences, and that often means going after
customers. Bank accounts have typically become part of customers’ technology “footprint” with account
information contained on home PCs and mobile devices. Criminals seek to compromise data security in a variety
of ways, including installing (4)— often using “phishing” emails — to compromise customers’ data
security, and emulating unsecured Wi-Fi facilities in cafes, restaurants and airports; thieves have even been
known to set up fake accounts to direct traffic where they (5) it to go.

One of the big problems for financial institutions is that there are multiple people and departments responsible
for managing the various risks related to cyber security. In an age in which cyber criminals can do enormous
damage, there is a strong case to be made for aligning and/or integrating various functions such as fraud

(6), IT security and compliance into a more cohesive group, possibly with a chief cyber risk officer
overseeing all digital security measures.

Select the most appropriate option for blank No. 1.

1. talk
2. gossip
3. rely
4. watch
5. brood

Correct Option - 3

Que. 142 Select the most appropriate option for blank No. 2.

1. possess
2. pamper
3. protect

4. propose
5. prevent

Correct Option - 1

Que. 143 Select the most appropriate option for blank No. 3.

1.  sharpest
2. shortest
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3. toughest
4. weakest

5.  strongest

Correct Option - 4

Que. 144 Select the most appropriate option for blank No. 4.

1. Hardware
2. Gifts

3. Malware
4. E-mails
5.  Software

Correct Option - 3

Que. 145  Select the most appropriate option for blank No. 5.

1. hide

2. consume
3. dislike
4. want

5. advise

Correct Option - 4

Que. 146 Select the most appropriate option for blank No. 6.

1. preparation
2. production
3. participation
4. procession
5. prevention

Correct Option - §

Que. 147 The following sentences form a paragraph. The rest of the sentences are marked as A, B, C, D,
E and F. Sentence 'E' is at the correct place. Rest of the sentences are not given in their proper
order. Read the sentences and answer the following questions.

(A) Luckily, young consumers are becoming aware of the issue and adapting their consumption habits
accordingly.

(B) Consumers aged 25-35 are projected to spend 150 billion US dollars on sustainable goods by 2021.

(C) In the UK too, the Waste and Resources Action Programme (WRAP) estimates 140 million pounds worth of
clothing end up in landfills every year.

(D) The impact of the fashion industry on the environment is undeniable.
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(E) Recent research by consultancy firm Deloitte revealed over 80 per cent of Millennials across Australia,
Canada, China, India, the UK and the US find it important for companies to behave ethically and take
steps to diminish their environmental impact.

(F) More than 16 million tons of textile waste are generated each year in the United States alone, and the amount
has doubled over the last 20 years, according to the US Environmental Protection Agency.

Which sentence would be the FIRST in sequence?

A

[, TR SO 'S T NS IR
mog QW

Correct Option - 4

Que. 148 Which sentence would be the SECOND in sequence?

A

[, T SO 'S T NS TR
m g QW

Correct Option - §

Que. 149  Which sentence would be the THIRD in sequence?

A

N A W N =
m g aQw

Correct Option - 3

Que. 150 Which sentence would be the FOURTH sequence?

A

DN A W N =
mo aQw

Correct Option - 1

Which sentence would be the LAST in sequence?
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Que. 151
1. A

™o Qw

2
3.
4.
5
Correct Option - 2

Que. 152 Read the passage carefully and answer the questions that follow.

Stress, a potential danger to a person’s health and well-being, is a “product of the transaction between
an individual and its environment”. It is commonly experienced negatively if perceived strain outweighs
available coping resources. The workplace is considered as a source of strain that causes stress leading to
detrimental health effects. Evidence shows that workers and executives in middle management positions are
more susceptible to increased stress levels compared to, for example, top managers. Based on the effort-recovery
model (ERM), the workplace is associated with effort expenditures that can develop into severe and chronic load
reactions if recovery is insufficient or incomplete. Thus, recovery as a process of “psychophysiological
unwinding” appears to play a major role in stress reduction and can act as an intervention in the development of
long-term negative health reactions to normal stressors at work.

Stress in the workplace has a detrimental effect on people’s health. Sufficient recovery is necessary to counteract
severe chronic negative load reactions. Previous research has shown that vacationing for at least seven
consecutive days provided an efficient recovery strategy. Yet, thus far, the effects of short vacations and the mode
of vacation (whether at home or in a new environment) have rarely been studied. We investigated the immediate
and long-term effects of a short vacation on well-being and perceived stress and whether the mode of vacation
impacted these results. Data was obtained from 40 middle managers (67.5% men and 32.5% women). The
intervention group spent a short vacation in a hotel outside their usual environment. The control group spent their
vacation at home. Results indicated that one single short-term vacation, independent of the mode, has large,
positive and immediate effects on perceived stress, recovery, strain, and well-being. Strain levels decreased to a
greater extent in the intervention group compared to the control group. The effects can still be detected at 30 days
(recovery) and 45 days (well-being and strain) post-vacation. Encouraging middle management employees to
take short vacations seems to be an efficient health promotion strategy; environmental effects seem to play a
minor role.

Which of the following is true about ERM according to the passage?

Employees would feel satisfied when they recover money equivalent to their efforts in the work.
Effort recovery plays a major role in reducing the stress levels of employees.
Effort expenditures and chronic load reactions have to be balanced and recovered.

ERM can lead to the development of long-term negative health reactions to normal stressors at work.

AR S

None of these.

Correct Option - 2

Que. 153  Which of the following is the most appropriate antonym of the word counteract ?

1 Cancel

2. Compensate

3. Counterbalance
4

Continue
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5. Nullify

Correct Option - 4

Que. 154 Which of the following sentences mean the same as "Stress in the workplace has a detrimental effect
on people’s health"?

Stress in the workplace is common and can help to achieve the set targets.
Stress does not have a big impact on the health of employees.
Stress in the workplace has a harmful effect on people’s health.

Stress gets the best out of an employee.

AR S

None of these.

Correct Option - 3

Que. 155 What does the second paragraph summarise?

Only outdoor vacations have a positive effect on perceived stress.
Long vacations are better than the shorter ones.
Vacationing is a health promoting strategy for middle managers.

Not only the middle managers, but the top management also benefits from vacations.

AR A

None of these.

Correct Option - 3

Que. 156 Which of the following is the most appropriate synonym of the word coping?

1. Collapsing
2. Failing

3. Falling short
4. Fizzling

5. Faring

Correct Option - §

Que. 157 Read the passage carefully and answer the questions that follow.

The home-schooling movement emerged in the 1970s, when it was considered a fringe pursuit.
Today, it is probably the fastest-growing form of education in the UK. The number of home-schooled children
has risen by about 40% over three years, according to recent research by the BBC. Around 48,000 children were
being home-educated across the UK in 2016-2017, up from about 34,000 in 2014-15. But the real number is
likely to be higher. Data is not collected centrally, and while local authorities keep a register of home-educated
children, this only covers children who have been withdrawn from school. Children who are never put into
school are currently not required to register.

Many parents who opt to home-school their children say they are avoiding bullying, exam pressure and stress.
Others have concerns about special educational needs, not getting a place at the school of their choice, or the
school environment. “It used to be a philosophical ethos; now it’s about children having some sort of difficulty at

school,” says Edwina Theunissen, former trustee of Education Otherwise, a home-education charity founded in
1977.
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Every morning Ben Mumford starts his school day with maths. At the age of 10, he is already working at GCSE
level, but he doesn’t always bother to get out of his pyjamas in time for the class. He reads more books than most
of his friends, studies science on the beach, and recently built a go-kart in a technology lesson. Ben is happy and
fulfilled. All, his mother Claire Mumford believes, thanks to home-schooling. “It’s not that I’m anti-
establishment,” says Mumford, who has been home-schooling Ben and her other children, Sam, 11, and Amelia,
eight, for the last year. “It’s just that schools haven’t got the time to nurture and teach children the way I think
they should. School is very oppressive for young people. It’s not natural to be sat at a desk all day, with
fluorescent lights, computer screens, barely able to see outside.” Her children get “time to relax and to be kids —
to go to the woods, build dens and to learn what they’re excited about.”

Which of the following is the most appropriate synonym of the word fringe?

1. Popular

2. Important

3. Large

4. Insignificant
5. None of these

Correct Option - 4

Que. 158 Which of the following is a correct inference from the passage?

There maybe no students going to school in the near future.
Internet can have a bad impact on children.

3. Itis better to send children to schools instead of home-schooling because they get to socialize with
others.

Schools can teach discipline which home-schooling can not.

5. The number of home-schooled children has risen in the recent years.

Correct Option - 5

Que. 159 What does Mrs. Claire Mumfor opine?

Schools are of no use in educating children.
2. Children should be home-schooled for a few years and sent to schools for higher grades.

Children should get time to relax and that it’s not good to be sat at a desk all day, unable to see anything
outside.

Boarding schools can be better places to educate children.
5. None of these.

Correct Option - 3

Que. 160 What is the most appropriate antonym of the word bullying?

1. molesting
2. Nurturing
3. harassing
4

harming
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5. outraging

Correct Option - 2

Que. 161 What is EEPROM?

EEPROM is a read only memory that can be erased and re-programmed
EEPROM is a read only memory that cannot be erased.
EEPROM is a read and write memory which cannot be erased

EEPROM is a read and write memory which can be erased and re-programmed.

ok W=

None of the above

Correct Option - 1

Que. 162 A Gigabyte equals all of the following, except

1000 megabytes

Billion kilobytes

Million kilobytes

1 thousandth of a terabyte

All are correct

AR S

Correct Option - 2

Que. 163 Junk e-mail is also called:

1. Spam
2. Spoof
3. Sniffer script
4.  Spool
5. None of these

Correct Option - 1

Que. 164 In MS Word, the dimensions of the Letter page size are

1. 85”x11”
2. 117 x17”
3. 85"x14”
4. 17.257x10.5”
5. None of these

Correct Option - 1

Que. 165 Which is the example of Half-duplex system?

1. Walkies-talkies
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2. Keyboard
3. Monitor

4. Telephone
5. Television

Correct Option - 1

Que. 166 Which of the following is not a windows version?

10
XP

I e

Correct Option - 3

Que. 167 Which of the following is a secondary memory device?

1. Keyboard

2. Disk

3. ALU

4.  All of the above
5.  None of these

Correct Option - 2

Que. 168 Which of the following is an example of first generation computer?

1. UNIVAC

2. IBM 1620

3. UNIVAC 1108
4. CDC 3600

5. All the above

Correct Option - 1

Que. 169 In which digital code each decimal digit is expressed by 4 binary bits?

1. BCD code

2. Binary code
3. ASCII code

4. Gray code

5. EBCDIC code

Correct Option - 1
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Que. 170 Which format of email address is correct?
xyz@website@com

xyz.website(@.co.in

1

2

3.  Xxyz@website.com
4. xyz.website.co.in
5

None of the above is correct

Correct Option - 3

Que. 171  Which of the following is true about interpreter?

It translates one instruction at a time
Object code is saved for future use
Repeated interpretation is not necessary
All of above

None of these

ok =

Correct Option - 1

Que. 172 Which of the following is an example of binary number?

1. 6AHI

2. 100101
3. 005

4. ABCD
5. 23456

Correct Option - 2

Que. 173 Which of the following key combinations is used to open Windows Task Manager?

1. Alt+F4

2. Alt + Shift

3. Alt+ Enter

4. Ctrl + Esc

5. Ctrl + Shift + Esc

Correct Option - 5

Que. 174 is a problem oriented language.

1. High level language
2. Machine language
3. Assembly language

@ Teachingninja.in



4. Low level language
5. None of these

Correct Option - 1

Que. 175  Which of the following is not an operating system?

1. DOS

2. Oracle
3. Linux

4.  Windows
5. Android

Correct Option - 2

Que. 176  Which malware was used by hackers to manipulate ATM machines and subsequently empty them?

1. Ransomware
2. Trojan Horse
3. Spyware

4. Tyupkin

5.

Agent smith

Correct Option - 4

Que. 177 Octal number 12 is equal to decimal number

I. 9

2. 10
3. 11
4. 12
5. 14

Correct Option - 2

Que. 178 ENIAC was the computer of-

Electronic general purpose
Processing concept
Electronic change concept
All of the above

None of the above

I e

Correct Option - 1

Que. 179  Write the binary equivalent of a number 31.625.
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1.

2
3
4.
5

(11101.101),
(11011.101),
(10111.101),
(11111.101),
(10110.101),

Correct Option - 4

Que. 180 What are two examples of freeware?

AR A

WinZip and Linux

Shareware and file sharing

Microsoft Word and the Google toolbar
Instant messaging and the Google toolbar
Microsoft Power Point and Microsoft Excel

Correct Option - 4

Que. 181 Third-generation language is

wok W=

machine language
assembly language
high-level language
middle-level language

low level language

Correct Option - 3

Que. 182 Which of the following is not a product of Microsoft company?

ok W=

Powerpoint
Access
OneNote
Chrome
Publisher

Correct Option - 4

Que. 183 What is base of Hexadecimal number?

A S

2

10
16
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Correct Option - 5

Que. 184 "," Symbol is used in Microsoft Excel for which of the following purpose?

It is used in a formula to create a range of cells

It is used to group together smaller sums in more complex formula
For addition of numbers mentioned in cell

For separating cell references in formula

None of the above

Al

Correct Option - 4

Que. 185 Word processing, spreadsheet, and photo-editing are examples of:

application software

system software

1
2
3. operating system software
4. platform software

5

None of the above

Correct Option - 1

Que. 186 Octal number system has a base

. 2
2.

3. 8
4. 10
5. 12

Correct Option - 3

Que. 187 Which of the following is not an antivirus software?

1. 10S

2. Kaspersky
3. AVG

4. McAfee

5. Norton

Correct Option - 1
Que. 188 Which of the following units performs the arithmetic tasks (such as addition, subtraction,
multiplication, and division) and logical operation?

1. Input unit
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2. Control unit

3. Arithmetic Logic Unit (ALU)
4. Storage Unit

5. Memory Unit

Correct Option - 3

Que. 189 “Structure of database” is known as

1. Attribute

2.  Entity

3. Schema

4. All

5.  None of these

Correct Option - 3

Que. 190 Cache and main memory will not be able to hold their contents when the power is off. They are

Dynamic
Static
Volatile

Non — volatile

AR A

Faulty

Correct Option - 3

Que. 191 The full form of “FORTRAN” is

File Translation
Format Translation
Formula Translation

Format Transformation

ok wh =

None of these

Correct Option - 3

Que. 192 What type of program controls the various computer parts and allows the user to interact with the
computer?

Utility software
Operating system
Word processing software

Database program

ok W=

None of these
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Correct Option - 2

Que. 193 In Excel sheet which of the following is the next column name after Z column?

1. Al
2. A0
3. AA
4. AZ
5. ZI

Correct Option - 3

Que. 194 Which of the following is last bar in Microsoft Excel?

1. Status Bar

2. Format Bar

3. Formula Bar

4. Menu Bar

5. None of the above

Correct Option - 1

Que. 195 Which of the following refers to extracting confidential information such as credit card numbers and
username password combos by masquerading as a legitimate enterprise?

1. Hacking

2. Denial-of-service
3. Spamming

4. Phishing

5.

None of the above

Correct Option - 4

Que. 196 Attempt to gain unauthorized access to a user's system or information by pretending to be the user is
known as.

Phishing
Spoofing
Spamming
Digital Spying

M .

None of the above

Correct Option - 2

Que. 197 Which bar is usually located below the title bar and provides categorized options?

1.  Scroll bar
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2.  Menu bar
3. Tool bar
4. Status bar
5.

None of these

Correct Option - 2

Que. 198 Choose the well-known DOS based spreadsheet package from the list.

1. Word

2. Smart cell

3. Excel

4. Lotus 1-2-3
5.  None of these

Correct Option - 4

Que. 199  Which shortcut key is used to print a document?

1. SHIFT+P

2. CTRL+P

3. ALT+P

4. ESCHP

5. None of these

Correct Option - 2

Que. 200 is a language translator whose source language is an assembly language and target
language is a binary machine language.

1. Loader

2. Linker

3. Macro processor
4. Assembler

5. Interpreter

Correct Option - 4
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